—
Z

@Emaux

N 7

water technology
PART LIST
FEBHE

mA RS sz EmER/HREA HE
[tem No. | Part No. Chinese Product Description QTY

1 04014061 | HFGIERAT Green light 1

2 04014060 | £Ifai5RAT Red light 1

3 04014027 | #®ARRX Mode button 1

4 03011007 | M4*12#2 22 M4x12 screws 6

5 03021014 | =EHIFEFEIR Control box panel 1

6 89330101 B 45 4% Cable 1

04013092 | ERXBHKEREKZ Cable with European plug 1

7 04013073 | EHLERKFTERFLE Cable with Australian plug 1

04013129 EXHLB YL Cable with US plug 1

8 04014033 | Hh#kizsHE Earth connection 1

9 04014081 | wmEFF X Power switch unit 1

10 04014029 | BfiEIFF% Timer selector 1

. 04014067 | 220V3Z 3 1 fih 38 220V AC contactor 1

04014075 | 110V H il 25 110V AC contactor 1

12 04014019 | %hi& Track 1

13 89480101 | EHIFEME A Control box body 1

14 04014013 | M8 PgllE#izEk M8 Pgl11 cable grand(s) 4

15 03011023 | EkBXHiEZ Screws 4

16 87013019 | B#BkKAZHL Plastic fitting 4

water technology

—
)

KZD2200 CONTROL BOX

KZD2200 iZ#IF8
Code: (220V50Hz/60Hz) 88330101
(110V50Hz/60Hz) 88330201

Keep this manual safe for future reference
BREBEIRAS
CONTROL BOX INSTALLATION

Remove the Panel from the Control Box, position the

box to the desired fitting place and mark on the wall with the location of the drilled holes,
then drill 4 holes of #8mm on the marked position and insert a plastic fitting, secure the box by
fastening 4 screws of M5x35 to the plastic fittings(See diagram below).

BABHTHIFERR, BIEHEETH LSENSEFFAEANRRIN, AREER ERANTLAHF
AN e8mmENFL. BINBRKARLE A 4 FIMS5x35 B BURL I HIFE EEE £ (EHIMEREED .

CONTROL BOX INSTALLATION DIAGRAM

EHIEREE
Plastic Fitting
Control Box B B B
=58
M5x35 Self-

Tapping Screw
M5x35
Shogt ¥

EMCB16032204



=
— ¢ Emaux —————————

z water technology N
A Warning:

This electrical control box must be installed by a licensed or certified electrician or a
qualified serviceman in accordance to the requirements of your government standard
orlocal authorities. Improperinstallation will create electric hazards which could result
in serious injury, death as well as damage to the property.

Before any servicing or maintainence work, make sure the electricity from the
power supply had been switched off.

N ==,

==
ABEFEHEALTAEERNBETIRARRNEIARRE A RBATLUMESFITNZEMR
X, TEHPRE S EMBSHBEFRHIEEAERRRARFEGRERMYREEEZERT.
RFEEBRTFIEH A Z oL TR EIEBFER BRI !

CONTROL BOX DIAGRAM

EHfEE%E
BAZRERE(nput AC Voltage)
iREBFTR 220V 50Hz/60Hz 110V 50Hz/60Hz

Power Switch\Unit N

1

O REIFFR

POWER SUPPLY

HhHEE

Earth cable

FFx

Time clock

RiniEfnes
AC contactor

e

On/Off Power Button ||

livatzzessl
Manual/Automatic Sw,

Rotary dial

f water technology

—
\

4.Turn the Rotary Dial to the current time, depress the Time Selector tabs to set the
furn-on time.
Closed Mode: Turn off all appliances connected to the Control Box
Manual Mode: Operation without timer.

1. Ensure the settingis on “Manual” for the MODE BUTTON

2.The Power Button will be used to manually turn on/off the Control Box

BHRN: REFEMEENRE, ERBELRXBNEITHFERXARE.

1. HREAT X, YIRE B,

2. MR IR, PIHREIT IR

3. W RETE FF X ML AR 2 B 3.

4. Gy 0 B ) BT 3 R B0 R T SR, B S B o (8] Y e H S 8 Y Bt 8] FF OK B B (8] 5 2 /i B A

18] ¥ %of R
RN : AL T RAKE.
FHRA : TEREHRE

1 RIBIRA I X YR B F o,

2. FAXRBHEARTERGHFBSXARE.

110V/220V-50Hz/60HzF #54% % [£] (Wiring Diagram)
N

DZ47LE-32 C25

HLEBE
110V-50Hz/60Hz
220V-50Hz/60Hz

. KM
. EmAvio) =

LKM KM Coil Voltage

110V-50Hz/60Hz

ES - (
/O/oo kOs06 070 .
0203 08( wE
QE U J M ] Timer Selector

: ‘ I s
. @j Mode Button
181}

L N
HHRREEE(Output AC Voltage)
220V 50Hz/60Hz 110V 50Hz/60Hz

&Worning: Maximum load of the Conftrol Box must not exceed 2.2KW |
Dz, s EREaERHENF22KW |
HEXBREUAA:
OPERATION INSTRUTION
Automatic Mode: Allows all appliances to operate automatically based on the pre-set
time.

1. Ensure the setting is on *Automatic” for the MODE BUTTON.

2.Turn ON the Power Button.
3.0n the Timer, select the "Automatic” setting.

ERTE&(Timer)

594 04T
(Green Light) (Red Light)

N l - _ Fsh(Manual)
1 / Bik(stop)
!

220V-50Hz/60Hz

Note:

2. Maximum load must not exceed 2.2KW.

LE R 1E AR
1. Bk ZERILIPSS, AT AT FSMER.
2. FiNAaE A B#BT2. 2KW.

1. Waterproof Standard reaching IPé5, suitable for outdoor use.

2



	页 1
	页 2

